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Name ______________________________

1.  If we assume perfect capital markets, homogeneous expectations, investment is optimally fixed, and any surplus cash has been paid out to stockholders.  Assume also that the firm decides to pay out an extra dividend.  Give one of the 3 reasons that stockholders will be indifferent to this dividend.

2.  What is the primary advantage of distributing surplus cash to stockholders via a repurchase rather than a dividend?

3.  How does a stock dividend differ from a cash dividend?

4. Assume a firm has decided to undertake a targeted repurchase to get rid of some nuisance stockholders.  What is an example of a nuisance stockholder?

5. Under the current tax code, capital gains are taxed at a lower rate than ordinary income.  Despite this difference, why might high dividend stocks offer the same pre-tax return as low dividend stocks?

6.  What evidence do we related to dividend announcements that stockholder-bondholder conflict exists?
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Use the following information to answer questions 7 through 10.

Microsplit Inc. is considering repurchasing 200 million shares at $120 per share.  Currently Microsplit has 5 billion shares outstanding with a market value of $70 per share.  Microsplit has four stockholders with holdings as follows:

Stockholder
Number of Shares

Mr. Bill
1 billion shares

Mr. Paul
350 million shares

Mr. Steven
150 million shares

Mr. Public
3.5 billion shares

7.  What is the wealth of Mr. Public before the repurchase of any shares?

8.  What is the firm’s value per share after the repurchase?

9.  What is the wealth of Mr. Public if the firm repurchases shares through a tender offer?  Assume that all stockholders act in their own best interest.

10.  What is the wealth of Mr. Public if the firm repurchases shares by using transferable put rights?  Assume that Microsplit issues one put right for each outstanding share.







